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»a of Trapezoids

A. Calculate the area of the trapezoid shown in each diagram.
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B. Draw a sketch of the trapezoid and include all given information. Then calculate the requested measure(s).
5. Anisosceles trapezoid has base angles of 45° and bases 6. Anisosceles trapezoid has base angles of 60, legs

10 and 0 Calculate the area. with lengths 6 and basesm and 18. Calculate the
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7. A right trapezoid has a height of 5 and bases 6.4 and B. A'tiapezoid has an area of 112 S metian ot 16.
11.6. Calculate the area and perimeter. (Answers may What is the height?
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C. Area Quiz Review
9. The area of a square is 80. Find the side length and

10. A parallelogram has sides 12 and 6 with a 60° angle.

the diagonal. JE- Calculate the area.
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11. An isosceles triangle has a perimeter of 20 and base

of 6. Calculate the area.
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13. Arectangle has a height of 8 and a diagonal of 10,
Calculate the area.
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12. A square has a diagonal of 16. Find the area.
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14. A parallelogram has a 45° angle with sides of 8 and
20. Calculate the area.
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15. An equilateral triangle has a perimeter of 16. An equilateral triangle has a height of 12. Calculate
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17. Arhombus has a perimeter of 52 and one diagonal 18. An isosceles trapezoid has 45° base angles, legs with
of 24. C;]cu]ate the area. <= 52‘/4 - l;rr;ith 4+/2, and a longer base of 11. Calculate the
|
\b é;;y-,% A=3d,d, /‘ “1\ =2 @) (3+11)
2 \
=1 E “LJ = 4 (4
|2 7_(2'4)(10) 4 (4>( )
et =13° A =120 1\ Q:‘*\EU
X144 =09

=25
=5



